
1) Simplify.
𝑎) |2 − 5| =
𝑏) |5| − |−7| =
𝑐)  − |−8| =

2) Solve algebraically
𝑎) |𝑥| = 4
𝑏) |𝑥 − 3| = 7
𝑐) 2|𝑥 − 3| − 1 = 7
𝑑) |𝑥 + 5| = −9
𝑒) |𝑥ଶ − 1| = 3
𝑓) |−𝑥ଶ + 1| = 𝑥 + 1
𝑔) |𝑥ଶ − 2𝑥 − 3| = 5
Solve Graphically and 
algebraically.
ℎ) |𝑥 + 2| = 4
𝑖) |𝑥ଶ − 2𝑥| = 3

3) Graph and write a 
piecewise function
𝑎) 𝑦 = |𝑥 − 2|
𝑏) 𝑦 = |2𝑥 − 1|
𝑐) 𝑦 = |𝑥ଶ − 4|
𝑑) 𝑦 = |𝑥ଶ − 2𝑥 − 3|
𝑒) 𝑦 = |−𝑥ଶ + 1|

5) Find the 
Restrictions/NPV's

𝑎) 
1

𝑥 − 2
⎯⎯⎯⎯⎯

𝑏) 
1

𝑥ଶ + 5𝑥 − 6
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝑐) 
1

𝑥ଶ + 1
⎯⎯⎯⎯⎯⎯

6) Graph the following 
and its reciprocal on the 
same graph, identify the 
equation of and draw and 
label the vertical 
asymptote(s), and label 
the invariant points. 
𝑎) 𝑦 = 𝑥 + 2
𝑏) 𝑦 = 2𝑥 − 1
𝑐) 𝑦 = 𝑥ଶ − 4
𝑑) 𝑦 = 𝑥ଶ − 2𝑥 − 3
𝑒) 𝑦 = 𝑥ଶ + 1 

7) Find the Equation

Simplify
Solve
Algebraically
Graphically
Piecewise
Restrictions/NPV's
Reciprocals
Asymptotes
Invariant Points
Find Equation

4) Find the Equation

a) 

b) 

a) 
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